Week 6
Thursday 29th April 2020
Maths fluency - Yr 5
Please click on this link for more information - https://www.youtube.com/watch?v=KfofCCmURoI
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1a. Convert the length of the frain fo
metres.

1b. Convert the height of the bu
Kilometres.

SRR
4 — 500m
=
=
& o

heig

heig

3a. Fill in the missing symbol fo make fhe
stafement correct.

am 200em

heig

3b. fillin the missing symbol fo make fhe
stafement correct.

1,000mm m

heig

4a. How much longer is line B than line
A7

A

m

Give your answer in cenfimetres.

by

4b. How much taller is line A than line B7

A

400mm

your answer in millimehes.





image2.png
Metric Units

Metric Units

5a. Convert the height of the cactus fo
metres.

250em

P

5b. Convert the length of the bus fo.
centimetres.

14m

P

ba.True or false?

bk

400m

&

6b. True or false?

1,050mm < 1.5m

Mg

7a. fillin the missing symbol fo make fhe
stafement correct.

500em

7b. fillin the missing symbol fo make fhe
stafement correct.

125m

longest ine and the shorlest line.

1.050mm

B
104cm

L ———_
2m

Give your answer in cenfimetres.

Mg

8b. find the difference between the
longest ine and the shortest

1.050em 26m

7.500mm

A B
Give your answer in metres.

o

b
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9a. Convert the length of the bike o
millmetres.

A“

1.05m

k4

9b. Convert the height of the rocket fo
Kilometres.

109m

k4

10a. True or false?

0.45km = 450,000m

k4

10b. True or false?

142,050mm > 143m

k4

11a.Fill in the missing symbol o make.
the statement correct.

1
25 em 30mm 0.04m

#

11b. Fillin the mi
stafement correct.

ing symbol fo make the

m 01em

12a. Find the difference between the
fongest ine and the shorlest line.

s
A
VT
| raskm
5
150,000m
v

ive your answer in cenfimehres.

4

12b. Find the difference between the
fongest ine and the shorles}

B
—

3.540cm

| 140%0mm 76.2m

Give your answer in mekres.

=





